LG YT tmsﬁ Wi
ey uder el A s
wirda eva, e

famfey wotw — )3/ 2018 / O gy, 129w 02022019
T urAdT qer (W) 2018 @ (v~ gl e s @) s

107 /2019 / Ve, mmmwaua1ao1a¢mm Wﬁ\,t
wr w A sl ey aol apafef & g B daarde g "“;ﬁﬁm
mmewﬂmmMﬁmnmmnmeM
ah @ @ o e gl o wu o e smpife Y g &) e av e af
(#2)-2018 & Py — vanr vdl Eafoes seaas 4 mvmt




State Eligibility Test - 2018
(Final Answer Key)

Defence & Strategic Studies

Q1 : The study area of the Defence and Strategic Studies encompasses:

Y& U9 TSR HeT vy & 3egds &9 afeAfad war ¥ -

Strategy and Tactics

geeaifd vd T

History and Geography

sfaer wa e

Economic and Political Scenario

3 vg Toeifas e

All of these

Dmmﬁ

Answer Key: D

Q2 : Who among the following opined that 'National security is relative freedom from harmful threats.'
fifhd & @ fhaa I8 AR fear i Uséy great gifaere TRkl & Mg fiFd
gl

Billy Michell

IECINENE]

Hennry Kissinger

LG EUREORA SRS

J.E. Mroz

S3HS

Regis Debray

Di’ﬁﬁﬂ%ﬁ"

Answer Key: C




Q3 : 'Freedom from fear and freedom from want' are related with which one of the following:

I F AT T 3999 AR Rl § & Faw et § 2

Human Security

HleTd Y&t

Environmental Security

TR &t

Détente

dara Ay

None of these

Ol & i 80

Answer Key: A

Q4 : Who among the following statesman was not associated with the Non-Aligned movement?

AT & & el T IefaARIeT Mecleld F g0 ST U

Sukarno

gepruif

)

Nehru

R

Sheikh Mujeeb Ur Rahman

AW Hoflg 3T GATT

Marshal Tito

D AT et

Answer Key: C

Q5 : Who among the following compared 'Guerillas to fish and the people to water":
fIfaf@d & & frasr SaERT (IRed) H ot A ¥ 3R Jadr Hr o Jo &
S pel 9
&I -

Ho Chi Minh

g = =g

Che Guevara

ElER




Giap

g

Mao-Tse-Tung

e ——

Answer Key: D

Q6 : 'ISAF refers to ?
37S.UH.T.UG. &oiTar &2

Islamic State's Allied Force

SEATTHS TCCH TASS BT

International Security Assistance Force

Seooiedd AR Hfaeda oy

International Security And Force

geteieed AR U B

Islamic States Assistance Force

D

sTfAs Tee /T B

Answer Key: B

Q7 : Who has advocated for waging 'Limited Nuclear War" in the nuclear age?

MBI o7 F WG AT gee T T B e Ry 3

Raymond Aron

HUS Wi

Bernard Broodie

JATS ST

Herman Kahn

AT FIee

Hennry Kissinger

D%?lfrﬁﬁ’

Answer Key: D

In which year did India establish 'Strategic Partnership' with Afghanistan?




Q8 : T a¥ HRA H IHIMTAA & AT I0Teilicieh ABIGRT TAAT Hr 2

A

2001

2001

B

2010

2010

C

2011

2011

D

2014

2014

Answer Key: C

Q9 : Which of the following are the major funding sources for terrorist groups and organized criminals?

Hiawardl gl 3R Fo1fda IRl & fov vaei & a3 did @Aeifed # & =1 § 2

Narcotics and Human Trafficking

HATesh &g Ud AT d&ahar

Arms Smuggling

eRERT & aERlr

Money Laundering

HAT enfser

D

All of these

s & @l

Answer Key: D

Q10: Which of the following is not identified as the indicator of internal conflicts in the world?

frafaf@a & & 58 feg 7 g @ 3ndie doxt & gt & RAfcga 7@ frar mar g2

Affluence

Fetdl

Poverty and high population growth rate

Resource Scarcity

AT 37T




Discrimination and disempowerment of minorities and groups in the society

Dwﬁmwmwﬁasmuaﬁamwmﬁ%hw

Answer Key: A

Q11 : Which of the following is not considered as a fundamental objective of national security?

fArfafea & & f5Fa TsE Gt &1 Hd 3T ALH AT STl § 2

To Preserve Sovereignty

TEYIAT T HIGTOT HlaAT

To Safeguard the Territory

T Hr T&Tm

To Maintain Military Capability

AfAF &THAT FT T IGaTT

To Maintain International Peace

Dar—d?‘rw.ﬁuen%raaﬁm

Answer Key: D

Q12 : Inthe desicive elements of a Nation's Defence budget, which is a extreme determining element?

farely 21 & geeTr soiec & fAURT deal A @i @1 9ed AU doa e Agcaqul @

?

National interest

TSeT foed

Threat perception

AT gcgefiaor

Ideological commitment

o wfaseear

Technological capability

Dl st

Answer Key: B

Q13 : 'Garden Reach' workshop deals with:
ST e HIAATAT FFalodd & -

Ship Building




A |Sterdia AT 8

Tank Production

& @FET O

Missile Production

geygTEy AT ¥

Air Craft Production

Dg?ﬂéamﬁmﬁwﬁ

Answer Key: A

Q14 : The most motivational reason for the concept of Global Village is:

TIeg-ama T 3TUROT T GO Y HROT § ?

Muissile technology

fAarge ea=tarst

Space technology

o A

Nano technology

Al TFATGTSIT

Information technology

D

SN FATAATST

Answer Key: D

Q15 : Which one of the following regions is labeled as the 'Boiling Cauldron of World Politics™?
frfafad e # @ fha favg TsNfa &1 Saeidr g3 Herer Fel I &7

West Asia

qiTH TirET

East Asia

ot TR

South Asia

afaror uiwr

South Pacific




D |gfaror wera

Answer Key: A

Q16 : Which country is facing the terrorist onslaughts of '‘Boko Haram'?
PisT AT A 'SR g & TdhdIeT gHaT T THAT HT T@T & ?

Uganda

JaTrsT

S

Nigeria

GIES IR

South Africa

af&oT 3mhreT

Angola

D[

Answer Key: B

Q17 : Which one of the following is not a technique of Conflict Prevention?

Preifd & & Fi Fud FaRoT &1 gFhE A8 o

Mediation

HEIJEAT

Peace-keeping and peace-making

enfa-eanRar v enfa-AaATor

Confidence building measures and track-two diplomacy

faRary SgTell & 3UTT JUT GiAHATE TTe1d

Erecting barbed wire on the violent borders

D%ﬂmmﬁwmmmﬂm

Answer Key: D

Q18 Which area of the world is identified as 'Heartland' in the land power theory of Mackinder?
AfFUsT & spufad fAecled 7 AT &1 i A1 &1 TEIEIT & &I A AT ST ¢ 2

Afro-Asia

T TR




Central Asia

e TRRIAT

Western Europe

R T

Eurasia

Du‘l‘f‘\?lm

o

Answer Key: D

Q19 : Place the following thinkers in their chronological order:

fF=tifhc TRt T 3e7eh UfAgTiaeh Hrellelsha & sgafeyd AT -

Mahan, Mao, Kautilya, Kissinger

AT, AT, ey, fhfaer

Mao, Kautilya, Mahan, Kissinger

A3, e, Hge, FRAR

Kautilya, Mao, Mahan, Kissinger

FifeeT, A3, 7g, fFRAR

Kautilya, Mahan, Mao, Kissinger

D FifesT, AgE, A3, RS

Answer Key: D

Q20 : Who among the following thinkers defined the 'Defence industrial base’ as any goods, service
component or input to the national economy necessary to the security interests of the state?

fArfafea & @ g fTuRs & @i Jicgifes 3R #l Teg & GgReT f{dl & o
e AT & el &g, AaT Hagd I1 aFId & §G H GRS Fham g 2

B. Crawford

. HIS

Barry Buzan

S goire

Richard Rose Crance

RSERIEEr:]

Adam Smith




D |wsH &HY

Answer Key: D

Q21: Match the following thinkers in Table-I with their books in Table-1I on the basis of correct code

given below:

Table- |
a. Guillo Douhet
b. H.J.Mackinder
c. Carl von Clausewitz
d. A.T. Mahan

Table-lI
1. The interest of America in sea power: present and Future
2. On war
3. Geographical pivot of History
4. The command of air

A R T T e F UK o GA-1H R T Rt B g2 afte e

QIR & AT FHfIT AT -
-1 -2
(a) TS 3 (1) g 3T 1w AR 3 W G Yol & =H
(b) T=. 3. AfFv=T (2) A aR
(c) FTer i FeTATICH (3) SNTeFer Rae e BFEY
(d) T.&. AR (4) T FATS 3HF T
a b C d
4 3 2 1
A
a b c d
4 3 2 1
a b c d
5 3 4 2 1
a b c d
3 4 2 1
a b C d
2 1 4 3
C
a b C d
2 1 4 3
a b c d
1 2 3 4
D
a b c d
1 2 3 4




Answer Key: A

Q22: Match the following authors mentioned in List-1 with their books mentioned in List-11 by using the

given codes:
List- List-lI
a. Raymond Aron 1. People, State andFear
b. Bernard Brodie 2. Perception and Misperception in International Politics
c. Barry Buzan 3. Strategy in the Missile age
d. Robert Jervis 4. The country of Total war
o & I el T TN A §U GA-1 7 Soil fAetifhd d@e @ AR g2 A
Sfeaf@d 3ot gedet a1 gafad RS -
-1 T2
(a) THUE TIH (1) 9Igel, & TS o
(b) TATS FISl (2) THEH TS A9uawH 39 ScveHd Uiferncad
(c) §9 gorA (3) euilsd g AaEe W
(d) TEC Wfaq () f& ¥gd K Sleer IR
a b c d
3 2 4 1
A
a b C d
3 2 B 1
a b C d
4 3 1 2
B
a b C d
B 3 1 2
a b C d
1 4 3 2
C
a b C d
1 4 3 2




2 1 4 3
D

a b C d

2 1 4 3

Answer Key: B

Q23 : Identify the correct code for the Assertion (A) and Reason (R) as given below:
Assertion (A): Economy of force is the supreme law of war
Reason (R): The art of correct distribution of troop is the great art of war
Code:
foeaifehe 3fAFUT (A) 3R d& (R) & foIw @@ e &1 =4 HifaT -

3fARUA (A) : AfFT T ATaR—ar gee &1 gafea f@ga g

de (R): dT ThisAT T TG faaR0T geg H Hgrholl B

Both A and R are correct

Ada R T B

Both A and R are incorrect

ATUT R 38T ¢l

A is correct but R is incorrect

AT § AfFd R 3TT ¢

A is not correct but R is correct

DAm%aﬁmRm%‘l

Answer Key: D

Q24 : Identify the correct code for the Assertion (A) and Reason (R) as given below:

Assertion (A): The U.S. is committed to strengthening Indian economy even if it includes following
India's energy needs through transfer of nuclear technology and fuel.

Reason (R): The U.S. feels threatened by accelerated economic growth of china.

Codes:




fAFafafld 3y AR aF R& faT @8 Hc A ggae Hifaw -

HFAFYA (A) : BFFT T IHANFT AR Hi HFegawdqr 1 geg e & fav gfdees g,
7ol & 3HH ARSI FigAehr AR TUA & FEAAUT & ATIH & HRA T 3AT
HIGLIHATHT T G AT AAS &

d® (R) : GgFd T @RS AT 7 ey i gite & Tor Ay Il gl

A is true but R is false

AET &, fhed R 38T B

A is false but R is true

A 3T &, fhed RET B

Both A and R are false

AJdYT REAT 3T Tl

D

Both A and R are true but R is not the correct explanation of A

ATUT REET AT &, e RA S | sarear wi¢1 &

Answer Key: D

Q25 : Identify the correct code for the Assertion (A) and Reason (R) as given below:

Assertion (A): While nuclear power option has been emphasized as a key to India's energy
independence, this is not likely to happen before 2050.

Reason (R): If thorium-based production technologies are not found, India would become dependent
on maximum imports to fuel its nuclear plants. Increasing the capacity under this scenario would
significantly impinge an India’s energy Independence

Codes:

A o T AfARYS (A) 3N TF (R)&F T @@ e H vgAeT Y -

3IfAFUT (A) : 7RI F 39T Fadadr & v AfAFT 397 R[Ped W AR fer ar § o
2050 @ qd @1 Uil T HFATSAT 76T o

aJ&s

(R) : Ifg ARTA 3maRA 3curesT WP gl 915 St § aF AR 391 AT
TGAN & U A & 3T W R g Sren| sw feufa # eddar # gitg &1 R
T 3AT FTAATAT W AT THIT I397|

Both A and R are correct and R is the correct explanation of A

ATYT REAT T@El & 3R R] A Fr @gr sarear gl

both A and R are not correct




B |Adar RaAT TET =T8T B

A is correct but R is not correct

ATE & TaT RTE & B

A is not correct but R is correct

D

AHE FE & W] REE B

Answer Key: A

Q26 : Identify the correct code for the Assertion (A) and Reason (R) as given below:

Assertion (A): In a war of revolutionary nature, guerilla operations are unescapable and
indispensable.

Reason (R): Guerilla warfare is a struggle of weak against the strong

codes:

A G T AR (A) 3R TF (R)F fAU W@ e &1 T HifST

HfFFUA (A) : FfAH JHfad F Jeg # SUAR FrAarE! 3ARe™ 3N AHard B
% (R) : BIUAR Jeghs dael & favee fAde &1 @uy g

A is correct bur R is not correct

ATE & foheq REE el T

A is not correct but R is correct

A TR €T & fheq R TEY B

Both A and R are not correct

A 3R R @I & g

Both A and R are correct

D

A AR REET FEr &

Answer Key: D

Q27 : Assertion (A): Non-alignment policy still continues to be an option as independent foreign policy of
a country.
Reason (R): Non-alignment policy is still relevant in contemporary scenario.
Codes:

HFRYT (A) T 2T &1 T faeer AT & &9 & e faderar HfT ah ofr vn
e gl

% (R) : GodTel IReed & ae TRuet Aifa 3nh o gaed

q-,_c"'_

[N




Both (A) and (R) are false

(A) TUT (R) &t & Ireld &1

(A) is true but (R) is false

(A) T § AfFaT (R) el B

Both (A) and (R) are true

(A) 3R (R) a1 € TEr Bl

D

(A) is false and (R) is true

(A) Td & 3R (R) TET &

Answer Key: C

Q28 : Choose the correct code of the following Assertion (A) and Reason (R):

Assertion (A): The president of India is as per constitution supreme commander of the armed forces

Reason (R): He has to exercise all his functions in accordance with the advice of the cabinet
committee of the security affairs.

Codes:

37U (A) TF (R) FT 39S FHe gBAT -

HFDYA (A) : AU & TR AR & Tseafd HAEF Y131 & Fafed JATTH gl
% (R) @6 39 FHET HA FI&T A T Hfdde AT fr Fog | w1

Both (A) and (R) are true and (R) explains (A)

gt (A) 3R (R) TEY &, 31X (R) (A) T TISEHIOT T &

Both (A) and (R) are true and (R) does not explains (A)

art (A) AR (R) @Y 8, e (R) (A) T FasEaor JgT Tl

(A) is true but (R) is not

(A) WET &, e (R) WA €T B

D

Neither (A) nor (R) is true

(A) 3R = & (R) T ¢

Answer Key: A

Q29 : Identify the correct code for the Assertion (A) and Reason (R) as given below:

Assertion (A): History been the testimony that there is no victory in a limited war unless the
objectives are defined in the opening round of the conflict.
Reason (R): Limited war has always been bought to achieve limited objectives by employing




limited means in limited geographical areas.
Codes:

AR forg HAHUT (A) dUT T (R) & TIT HET e T qgdlel hIfaiv -

HfFFY (A) - 3fder 38 dew o1 @l § & AR geg 7 I dud & gifds @ A
& e aRenfa wd g3, o el fasrr gt fAerh|

as (R): AT 3egeal 1 wita & v A daryst s 92T &, d@iffg siafos
& # AT FASTSAT AT T3 AT IET &l

Fe -

o

Both (A) and (R) are correct

(A) 3R (R) ar=T HET B

Both (A) and (R) are not correct

(A) 3R (R) T TE FET B

(A) is correct, but (R) is not correct

(A) T& & W (R) F&r 7TET g

(A) is not correct and (R) is correct

D

(A) TEY 7761 & IR (R) T ¢

Answer Key: A

Q30 : Identify the correct code for the following Assertion (A) and Reason (R) as given below:
Assertion (A): State policy is the womb in which war is developed.
Reason (R): War is to be regarded not as an independent thing, but as a political instrument.
Codes:

feaifehd HfFUT (A) 3R & (R) & fov #Er e T ggareT HIfaw -

HfFFUT (A) : TS g amsdiery g, o aed e fasfaa giar Bl
% R):gEg B Faad Dol FAG FHST ST AMGT| T§ Teh Asledlicih 3THOT g
& -

o

Both (A) and (R) are true but (R) is not the correct explanation of (A)

AR REET FET &, fhed (R), (AT FET arEar =781 gl

(A) is true Both (R) is false

(A) EE & (R) ITerd &

(A) is false but (R) is true

(A) 7T § 9 (R) Her &l

Both (A) and (R)are false




D|(A) @dT (R) gt e gl

Answer Key: A

Q31 : Which one of the following India's military officer commanded the UN Peace Keeping Force?
fAfaf@d & & e arRdY A7 AR A T+ T Mfed TATAT JedT HT AJed
[E I

Lt. General Satish Nambiar

o, SRl AT AFE3R

General K.V.Krishna Rao

STeTXel .Y, FSUIRTT

General Sundarji

am?rgmsﬁ

General A.S.Vaidya

D ST U.TH. 35T

Answer Key: A

Q32 : The event Which triggered the beginning of the first world war was-
wyH faeagee T YR Fe dlell T o 2

Germany's invasion of neutral Belgium

Jery sfeead W S amar

Austria's declaration of war on Serbia

afear oY JHifear garT geg i awon

Assassination of Francis Ferdinand

BT Bfses & gear

Germany's declaration of war on Russia

waaﬁ?ﬁaﬁmgw@raﬁw

Answer Key: C

Q33 : APEC (Asia-Pacific Economic Cooperation) was formed in-
T (TRIIT-GRITT 3T HENT) FT TS gIHT AT 2

1991




A 1991

1993

1993

1998
C

1998

1989

D
1989

Answer Key: D

Q34 : Which one of the following is a Dual-Use Technology?
frafaf@a & FiT @ e afa-ser &1 sy &2

Submarine Technology

RCECIIERICE)

Tank Technology

¥ e

Remote Sensing Technology

Missile Technology

D

TaTIET SieIfarehr

Answer Key: C

Q35 : Which one of the following is not correct?

fArfaf@a # @ i a8 7187 &2

Che-Guevara and Cuba

H-agar 3R FaT

Stalin and Yugoslavia

Teifert 3R Faneariaar

Mao and China

A3 3k AT

Lenin and Soviet Union

afer 3R Aifaaa g




Answer Key: B

Q36 : Who propounded the concept of ‘Permanent Revolution™?

Paer AR shifa T 3@uRoT 1 gfauest fRar ar

Lenin

offelet

Seversky

HarEhT

Trotsky

=1}

X

Stalin

Dz-?ﬁ%rrr

Answer Key: C

Q37 : Strategy of Indian armed forces to achieve cutting edge technology is galvanished by the concept of:
AT TUET FAT 1 Jegahal fohE HTUROT & Uided & Fdletad e ured
Fel I g ?

Revolution in Military Affairs

Ve A # Hifdwry gRad"

Regional Military Association

SEIREIDEOR L)

Coastal Security

deadl geaT

Revolution in Maritime Affairs

D

AEfE ATFCT F FHIfaeRr aRads

Answer Key: A

Q38 : Which country doesn't shares its border with Afghanistan?
SAH I P TT U ARINATATA & AT HAT TS AT AT ?

Tajikistan

GUSIETSIGH




Uzbekistan

Iedfehedre

Turkmenistan

RELIGEGIGE

Pl

Kyrgyzstan

D

[EREESIGH

Answer Key: D

Q39 : Which option is correct in ascending chronological order?

FIATTHATAR RGN HA H Hlof A1 Aheq T & -

Rose revolution, Orange revolution, Green revolution, Jasmine revolution

ot Rategee, 3t Rategere, A Ralegee, stadsr RaregerT

Orange revolution, Green revolution, Jasmine revolution, Rose revolution

IS Naleg2re, Mol Ralegere, saae Rategers, st RalegereT

Jasmine revolution, Rose revolution, Green revolution, Orange revolution

STt Rategers, Ust Rateges, die Ralege T, 3er Rategere

Green revolution, Rose revolution, Orange revolution, Jasmine revolution

b Mt Rareger, Aot Rategee, 3s Rateger s, siads Rategere

Answer Key: D

Q40 : Which country supplies to India the 'Long Range Reconnaissance and Observation System
(LORROS)"?

fArafaf@a & & @l @1 o #Rd & T gt & Gioll Td 3delldhel JoTell
(TR ARINTH.) FHr 3t Hr 82

France

S

Isreal

ECNELC]

Germany

AT

America




D | 3@Rer

Answer Key: B

Q41 : Which one of the following was not a part of the secret service system propounded by Kautilya?

fAFfaf@a & & @i Fifcea garT gfauried Joaer dar Yol & $ET &8 AT 2

GRIHPATIK

BREIGED

(&

KAPTIC

Frafesh

UDASIN

Serdle

ASAN

D
3T

Answer Key: D

42 : Who among the following discovered the relationship between Acid Rain and Atmosphere
Pollution?

fFstifhd & ¥ fhea HFelT awl Td AFAUSAIT YGNUT & ST FoFeatl &1 Yol oM ?

Robert Angus smith

e torw Ay

John Dalton

Sttt STecel

C.V.Raman

@A T

J.C. Bose

Dl o

Answer Key: A

Q43 : The basic assumption of ‘Nationalism' is:
TSEIAT I ARSI AT § -

Recognition of a nation by other nations:




3T TS GaRT Teh TS & & H AT

Being a Nation on basis of Identity

ggdlel & UR & & H ISC H gleAl

Existence of ideological difference

Faies AGHAGH #T 3T

D

National Geography

USET 3gaitet

Answer Key: B

Q44 : Arrange the following Indian nuclear research reactors in order of their attaining criticality . Use the

code given below-
1. Apsara

2. Purnima

3. Zerlina

4. Dhruva

codes:

3eTch HAGH Uit & el H el HRAT 9A] 3aene Rt & ford -
(1) 3I=E|T

(2) qfotar

(3) SReATT

(4) 4

1,234

1,2,3,4

1,423

1,423

C

1,3,2,4

1,3,2,4

D

2,143

2,143

Answer Key: C

Q45 : Who among the following is the author of "Armament and History"?

fIfaf@d & & &l 3MAAvEC Tus BET FT @ § 2

Hitler

feeeR




J.F.C. Fuller

TR, B’k

Liddell Hart

fafser gre

Jomini

Dsﬁﬁl?ﬁ

Answer Key: B

Q46 : Which one of the following has open land border with India?
fArfafEa & & fhaed aRd & @y golr o 9 ¢ 2

Srilanka

IR

Nepal

ATl

Pakistan

qrferedreT

Bangladesh

D TG

Answer Key: B

Q47 : 'Popular support' is necessary for-

STA HEITIT ETH § -

Limited warfare

AT geeors #

Guerrilla warfare

R qeaw #

Nuclear warfare

WA Jeeha H

Mountain warfare

Dqé?ﬁtrzg%aa#rﬁ

Answer Key: B




Q48 : Which one of the following is not a Principle of War?
el & & i geg &1 Regea =78 § -

Military cooperation

g FggwT

Offensive action

3MShAUTcHS TlshaT

Surprise

3T

Economy of force

D erfea A fAdcaaar

Answer Key: A

Q49 : Partial Nuclear Test-Ban treaty was signed in -
IIATI] TRYETOT FfAeer A o gEATER g3 A -

2001

2001

1999

1999

1967
C

1967

1963
D

1963

Answer Key: D

Q50 : Which one of the following is not a non-traditional security challenge?

frfaf@d & & @l IR-oERETd grem gaAldr 78 § 2

Terrorism

3Tdehdle

Nuclear Submarine-security

S 9 9

Maritime security




C |adfesh gam

Human security

D
HIeTa &t

Answer Key: B

Q51 : 'Shanghai Cooperation Organisation' is primary related to -

RMETS TN HTSeT 9T T & HafddT § -

East Asian Countries

ot wRErg et @

South Asian Countries

gfaror RS get &

Central Asian Countries

Ay flRTs e &

Middle-East Countries

D

e & et @

Answer Key: C

Q52: 'Pressler Amendment' was in forced in -

UHOR R AT fehar arar ar -

1985

1985 H

1991

1991 #

1989

1989 H

1990

D 1990 &

Answer Key: D

Q53 : Yogoslavia was disintegrated during-
TENETTAT 1 faEes g3 2T -




1989

1989

1987

1987

1991

C
1991

1993

D

1993

Answer Key: C

Q54 : 'Exclusive Economic Zone' of a state is extended upto-

fpaY ¢or & 3uafaid e &3 & g giar ¢ -

200 nautical miles

200 siifeaner Her

120 nautical miles

12 Affeehol Hol

350 nautical miles

350 silfeanel He

180 nautical miles

D 180 sATfeshel HYe

Answer Key: A

Q55 : The "Strategic Partnership™ between India and Afghanistan was signed in which of the following
years?

R 3R IFIAEAT & AT FAoTh FBienT R rdfaf@d # fhd a¥ 7 gFdaR
g3 2T 2

2012

2012

2011

2011

2009

2009

2010




D [2010

Answer Key: B

Q56 : The Krishna - Godavari basin is situated at-

FoT aMeradr a8 feud & -

Eastern Coast of India

HRA & gl d¢ W

Western Coast of India

AT & giegsy de W

Central Coast of India

AT & AL de W

D

None of these

3T § FIS A

Answer Key: A

Q57 : Which one of the following is an UAV (Unmanned Aerial vehicle) -

fifra & & Pl "ARRT AR E -

Mig — 29

fA91-29

Mirage

RS

Rustom

JETH

D

Tejas

R

Answer Key: C

Q58 : ThePp=(C+E+ M) x (S + W) formula of national power was proposed by -

TS Aferd &1 FA Pp = (CHE+M) x (S+W)' Tohieh anT S&del foham arar ar

Ray S Cline

¥ TH. Figd




T.R. Phillips

.31, pforcg

Verman Von Dyke

geAfel dled 33

Walter Lippman

DaTwﬁm‘-\?r

Answer Key: A

Q59 : UNHCR is related with -
. UA. U L3R, HFSoUd § -

With War

gee §

With Refugees

eRoTfdAT &

With POWs

e AP

None of these

] [ ——

Answer Key: B

Q60 : Which of the following country made an exit from the European Union after Referendum?
SITHA EE & S1G hisl AN T JANT FE & T g I 2

Britain

fereet

Italy

gcalr

Brazil

CISIC]

Finland

Dﬁh—d?h:e;

Answer Key: A




Q61 : Indian navy has purchased surface to surface Barak 1 anti-ship Missile in 2003 from:
¥ 2003 H HARAT ARG of Tdg T TAdg doh Y8R HeA dlell Vel-fT fAaser sren-1
Tdier -

France

B o

Russia

¥

Britain

faea @

Israel

Dssms?ufr

Answer Key: D

Q62 : India Boycotted the 19th SAARC summit -
HRA & 199 ATh FFAT HT Sigsh Y 8T -

Due to Demonetization

faadientor & RO

Due to Surgical Strike

afoiehel TCIBH o HROT

Due to Uri Attack

38T W §HA & HROT

None of these

) (-

Answer Key: C




Q63 : Match the following authors name with their books.

Table- | Table-lI

a. Quincy wright i. Defending India

b. J.F.C. Fuller ii. Armanent and history

c. Jaswant Singh iii. A study of war

d. Y. Harkabi iv. Nuclear war and nuclear peace
Codes:
AT el & #ATH I 3eTeh! GETh! & Y FHAT RS -

H\?ﬁ- (i) H\?ﬁ- (ii)

(a) THIT ST RESELEEIER LN
(b) 1. TR . Dol (ii) HTATHT TUS ﬁ-’!—'gﬁ'

(c) STHded @'g i) T Tedr B I
(@) aTS. ELehrdr (iv)m\maﬁmmtﬁw
Ez\m -
a b c d
iii i i iv
A
a b c d
iii i i iv
a b c d
i iii iv i
B
a b c d
i iii iv i
a b C d
C .
i iv i i




i iv i ii

a b c d

i iii iv ii
D

a b c d

i iii iv ii

Answer Key: A

Q64 : Who made this statement that India is fully ready for two and half front war?

fohasT eT § & "9Rd T Ay o A W qll TRE Jeg H AR g2

Gen V.K.Singh

e dr.ah. &g

Air Chief Marshal Birender Singh Dhanoa

TR AN AT dReg Qg gaiar

Admiral Sunil Lamba

TSTATS goltel o

D

Gen Bipin Rawat

St 3T Taa

Answer Key: D

Q65 : 'Security Community" is referred as -

G FHE' O 3R & -

A group of states co-operate to manage their disputes and avoid war

TSt T VAT FHE S 39 faarel @ Auee 3R gee & U & AT 39 F Fgeher S
gl

A group of people who become integrated and develop a sense of community with a territory

ST T QAT Fog St Uehoe 81 I & 3R U WA & iR Teh THST gl 1 rae
fawfia aXar gl

A group of state whose primary security concerns link together closely

Trset &1 T T IR JrafAedr JRem Rad § S 3% 39 A Sg A @ Bl




All of these

Dsm#ﬁmfrl

Answer Key: D

Q66 : The main theme of the 'International Fleet Review 2016' held at Vishakhapatnam (India) in Feb
2016 was, which one of the following-

HEd 2016 7 FaRIME@OTTH (HRA) # ARSI easer At 937 Fellam 2016 &1 7
wT # & &7 a1 2

United Through Oceans

HEENRT & AEIH § S|

United to right environmental pollution on seas

FHET H GTEROT GouuT Uehel & fov wEAfd|

United to Fight Sea pPracy

T Sl At & T wEAR|

United to Protect Exclusive Economic Zone of country

Drr%jasﬁfﬁwyﬁamﬁrwé:ﬁvmﬁn

Answer Key: A

Q67 : Which of the following aircraft is the Air-to-Air refuller of the Indian Air force?
fFrfaf@a & & @i @ fadAeT AR arg J1 1 TIR-E-T REger (gar & gar &
U I arenn) fAAT § -

C-17 Globe Master

T-17 TANFAET

llyushin - 76

SRIT-76

llyushin -78

$AfI-78

C - 130J Hercules

D 1130 SF gxpferd

Answer Key: C

The "Territorial Waters' means:




Q68 : TR ST & I 2

Water inside the country

Aaar$a-ﬂm$rasr

Water Secured from other Countries

3y it & griara foham Irr Stel

Water supplied to other Countries

3 SRt & it foRar IR Ster

Water of the Sea Close to the coast of the Country

D

& % dC & A T FHST STl

Answer Key: D

Q69 : 'Sovereignty' is the attribute of which of the following?
FEFHCT et & & foraehr faawar & 2

Government

AP

Association

g

State

5T

Society

D
AT

Answer Key: C

Q70 : Which American president enunciated the idea of 'Military Industrial Complex' (MIC) -
fra 3aARSr aegufa & deg icf@Aw a3 i Fager $r 2

D. Eisenhower

3. 3SR

G.W.Bush

SiT. eoy, g
9

J.F.Kennedy




C |31.T®. aisr

Franklin Roosevelt

D

Thehfolel Toldec

Answer Key: A

Q71 : Arrange the following in their ascending chronological order and mark the correct code:
I. India's Nuclear Doctrine
Il. India's first Naval Doctrine
I11. Indo-Soviet Treaty of Peace Friendship and Cooperation
IV. Gujral Doctrine
Codes:

@ & 3a7eh e IRIET Hlelhd & AR W AT HE e & RAfeed L -
(i) IRT &1 AT Begred

(ii) IR &7 Ugell AlTas Eged

(iii) enfay, f=ar vad g & v sIRa Afaga afe

(iv) ToRTel FAEeTed

%

[N

L ULV

i,i1,iii,iv

v, L

iii,iv,i ,ii

L1V,
C

ii,iii,iv,i

IV, 11, 11, 1
D

iv,ii, i, i

Answer Key: B

Q72 : 'Cold Start' doctrine relates to which one of the following?

AFIEd H & 5T T T Fles e Atgea grafeud § 2

Russia

4

India

ART

North Korea

3T AT




America

D

AR

Answer Key: B

Q73 : Match the following ethnic minority from table-I to their respective nations from table -11 and use

the code given below:
Table-|

a. Rohingya
b. Chakmas

c. Baluchs

d. Lhotshampas

Table-ll

i. Bangldesh
ii. Pakistan
iii. Bhutan

iv. Myanmar

ArAfaf@d drfder-1 & ST FeudEIh! HI difaer-11 & &2f ¥ e &Y 3T @@

HT P AAA H -

|- (i) - (ii)
(a) Ufgar (i) StTencar
(b) TehAT (i) IrfehedreT
(c) SerT (iii) STeTeT
(d) oBIcREFEdT (iv) FITTAR
a b C d
iv i i i
A
a b C d
a b C d
B
a b C d
a b c d
C iv i ii i




a b c d

iv iii ii i

a b o d

i iii iv ii
D

a b o d

i iii iv ii

Answer Key: A

Q74 : Which one of the following is considered as the organization accountable for perpetrating separatist
terrorism within China's Xi Jiang province?

fArfafed & @ g @t & AT & {FAT Giod H GURAEE Mcdhdlc Tl &
fav fSFAeR AT ST & 2

Xi Mi

ST

Al-Queda

3TeT-shIcT

ISIS

Turkistan Islamic party Uyghur

Dgﬁwmmmqﬁm

Answer Key: D

Q75 : Which organization's Head Quarter is correctly matched with it from the following-

fRetifehd # & ford Hatoel &1 HEarord 38 ¢ ¥ @6 GAfT & -

UNESCO - India

JIER - AR

WHO - France

Secg, TAL3M. - B

ILO - Switzerland

IMF - Russia




D |35 UH.Uh. - &

Answer Key: C

Q76 : Non-Traditional Security concerns with -
IOFERET FI&T HFSET ¢ -

Border security

oar geaT 4

Defence research

YT AT &

Environmental security

aTcTeRoNg &t &

None of these

DWﬁaﬁéaﬁ

Answer Key: C

Q77 : Which Tactical Weapon ended the strategic stalemate during First World War -
fha aARe 8RR & yyd faeq geg & I1cTmaY 1 gATCT fhar -

Atomic bomb

UIHY] §H

Tank

&&h

Aircraft

arddgleT

S

Spear

D
$Tel

Answer Key: B

Q78 : Identify the correct code for Assertion (A) and Reason (R) as given below:
Assertion (A): During, 1971 Indo-Pak war, USA seemed favorable towards Pakistan

Reason (R): During this period India had a strong Defence cooperation with USSR




Codes:
foeeifehe HFHUT (A) 3R & (R) & TIT HEr e T ggaeT HIfAT -

HHRYA (A) : 1971 F HRA-Uh Je& & GRIeT HHAYHT qTfehEclial & Ffd Rt Fefia
g3

e (R):3H &I & aNIe WAAT HI AR &1 Aol &I HgAen ATl

&< -

o

Both (A) and (R) are true, (R) is a proper explanation of (A)

gl YT T & (R), (A) Fr IEr g

(A) is correct but (R) is not correct

(A) I &, T (R) 31T g

(A) is not correct, but (R) is correct

(A) 38T & Red (R) TF gl

Both (A) and (R) are correct

b (A) TT (R) &l TcT gl

Answer Key: D

Q79 : 'Gulf of Mannar' is located between:
HealX FT @rar fhash &g 3afyd g 2

India-Bangladesh

HARI-TATC

India-Indonesia

HRA-ZSATAAT

India- Pakistan

HRA-grfehedTeT

India-Srilanka

D AR T-HTelepT

Answer Key: D




Q80 : InJan 2018 in conference of India's DGP's and IG's Prime Minister Sh. Narender Modi told that
security agencies should urgently meet out the challenges of cyber threat. Where this conference
was held ?

aY 2018 FTAT H AR & Yo AgIGea a2m g Agalemat & qesele &l
HeTfOd R U TUTel A ew AT & Fgl o7 o &I Tolfadr i FgeR gl
¥ deahrer fuesT fgu| Tg TEAew Fgl g3m AT ?

Jabalpur

Sldelq

S

Tekanpur

THAR

S

Nasik

EIEEED

Pune

Dl

9

Answer Key: B

Q81 : 'AWACS'is a system which is
'HATHT' Teh YoTrell & it o -

Satellite Based

393rg 3R &

Missile Based

HETUTET MR &

Air Craft Carrier Based

AYAA aAEH IURT &

Air Craft Based

D

argaT 3 §

Answer Key: D

Q82 : The term Preventive Diplomacy' was coined by:

afaf@aa & 9 fFg F ars Toaa eeerael &1 AT fRar ar 2

George Bush

STeT g




Dag Hanmarskjold

397 gHReMTes

Kofi Annan

FIFT AT

Boutros-Boutros Ghali

° JRT-GRE TTell

Answer Key: B

Q83 : Which Russian leader accused the United States of using 'Hyper Power', 'Unrestricted use of force'
and 'blatant disregard of International law'?

o ol Ac & IS ATFT ToT o IATAT TAET T 3RS FHlefel Sl Goll
37ageler o forw @RS & gl sgar ar 2

Boris Yeltsin

e Afedfas

Vladimir Putin

cellieH Ik gfdet

N. Khrushchev

T, Fdd

Primakov

D;ﬁﬂma'

Answer Key: B

Q84 : Identify the correct code for Assertion (A) and Reason (R):
Assertion (A): The first government of Independent Bangladesh was sympathetic towards India
Reason (R): India played a pivotal role in the Independence struggle of Bangladesh

Codes:

fAFstifrd YT (A) a1 dF (R) & faT & Fe i gg=a HfT -
HHRYT (A) : Fac AL HT JUH WHR AR & G Fgregegfayor o
d& (R) : ST & FaAT FOY H AR F Fearg {fAer Femg o
FC -

a

Both (A) and (R) are correct

ATAT R TEr Bl

(A) is correct but (R) is not correct




B |A®E & REE 7T &

(A) is not correct, but (R) is correct

AHE ¢ & REET B

Both (A) and (R) are not correct

D ATYT RET TET AT &l

Answer Key: A

Q85 : Who has given the concept of 'Structural Violence' -
TaeTTcAs AT 6 3auron fhaer & -

Johan Galtung

SHgTeT ITeTcIeT

Noam Chomsky

o e

Nelson Mandela

Aol HIAT

Mahbuba Mufti

° e e

Answer Key: A

Q86 : 'National Disaster Management Authority' (NDMA) was established in the year:
TS 3T Yaetlad TIfeor (TA.31.0A.0.) e a¥ s frar

2005

2005

2006

2006

2007
C

2007

2008

D

2008

Answer Key: A

Who said 'Indians do not have a history of thinking Strategically"?




Q87 : e Fer Teefoid ids ARART & sfagra & =g g2

George W. Bush

A 9]
SifsT Secf, T

George Tanhem

Siet &oTgH

Berry Buzan

N g

Noam Chomasky

Da’mm

Answer Key: B

Q88 : 'National Investigation Agency' (NIA) has been set up with the aim of:
TSET ST T (NIA) T QI & gry Tig f a8 § -

Launching Counter - Insurgency Operations

gfa-Rceg fr sRIEEr & v

Investigating Terrorist Acts

3Taehdrdl SrIargal fr S & o]

Prevention of Natural Disasters

UThfdieh 3MTeT3it 1 A & fav|

Court Cases Against Communal Forces

D

qEveTde AfFaal & favte ~aEredl # Ahed & fv

Answer Key: B

Q89 : 'Satish Dhawan Space Center" is situated at -
AT gaeT 3AReET shog RUT § -

Hyderabad

gexreTe 7

Chennai

AT

Kochi




C|=aiea &

Sriharikota

D penara 4

Answer Key: D

Q90 : Who coined the term ‘United Nations' during World War 11?
cfacha faea gee & SRl fohael @gard Tsg'ue &t fear am

Roosevelt

Foldec

Churchill

afder

Eisenhower

TS oledglay

Truman

D

=i

Answer Key: A

Q91 : "Stategy of Annihilation” is related to
fatrer r et arafeed § -

Absolute War

A geu

Cold War

it geer

Psychological War

HATdAAeIeh ger

Economic War

D

e geer

Answer Key: A

Q92 : India's 'National Security Guards' (NSG) was created during-
AR T USET &I IS (T TH.SN.) &1 ot forer et fpam aram -




Kashmir militancy

FAR 33dIE & AT

Manipur militancy

AR 33de & 9AY

Punjab militancy

USTd 391G & HI

None of these

D

3T § FIS A

Answer Key: C

Q93 : The 'Operation Black Tornado' and Operation Cyclone were related to -
IR Soleh TRATS! dUT 3R STl Tafad & -

America

AN

Afghanistan

THIMAEATT &

India

RT &

Iraq

D

ENC o)

Answer Key: C

Q94 : Which one of the following elements contribute to the escalation of Defence expenditure?

fAeAfaf@a & & @l @1 dca & g7 & g AT & 2

Arms race

T i

Naval exercises

A geerarg

Military cooperation

el FEF & AU Arara 7 qgdeT

Peaceful conference and dialogue




D | enfeaqol @FAee v ardr

Answer Key: A

Q95 : 'Kyoto Protocal' is related to -
FAET el gFafeud § -

Climate change

STerary gRace &

Nuclear weapons

TRATI] A H

Riots

< &

International Terrorism

Dm@umﬁ@

Answer Key: A

Q96 : Who wrote '1965 war: The Inside Story"?
1965 R & 3AT88 TERT fhaer fordr § 2

B.M. Kaul

oA, Hid

R.D. Pradhan

RS TYTeT

V.P. Malik

ar.ar. Afos

S.D. Pradhan

D TH.3L 9T

Answer Key: B

Q97 : Which country is not a member of MTCR?
PleT ST THE.ANIR. AT TG gl ¢ ?

China

EIGH




India

France

s

D

America

AT

Answer Key: A

Q98 : Defence Policy of a country is aimed at -

ey &1 &7 WI-ANT &7 o8 gar § -

Deterrence Theory

$ITEET T RAteea

Dependency theory

fIRar &1 Reeea

Safeguarding Territorial Integrity

AT 3@Usdr & &M FIAT

D

Balance of Power

ATFT Fferet

Answer Key: C

Q99 : 'Arihant'is a -

Submarine

LCECS]

S

Nuclear Aircraft Carrier

URATY] ATGATATEH Ui

Nuclear Submarine

S 9

D

None of these

SAH & HIS QT

Answer Key: C




Q100 : 'BrahMos'is a -

Cruise missile

ol JeTuEs

Submarine

ECECS]]

S

Satellite

34dg

None of these

Dl st & o8 o

Answer Key: A




